
C'BORE AND TAP
AT FINAL MACHINING

ON WELDMENT

A
A

C

C

B

B
 54.93° 

 2.70° 

VIEW A-A

 81.17° 

 2.044±.002 

VIEW B-B

B

 62.25° 

 .031±.002 

REVISIONS
REV DATE DRW'N CHCK'D DESCRIPTION

A 10MAY16 GFC CR INITIAL RELEASE
B 25AUG16 GFC -- ADDED NOTE

64

.250 TOOLING BALL
.2" OFFSET, 1/8 " SLIP FIT 
SHANK, MCMASTER-CARR
P/N 8484A11

VIEW C-C

 .2
5 

 1.19 
 .450

M4X0.7 - 6H  .310
2X  .130 

 1.84 

1

SW DOCUMENT FILE

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

DWG NOPROJECT CODE

NEXT ASSY

TITLE

DRAWN

CHECKED

DESIGNED

ENGINEER

FINISH

EQUIV.
1018 OR 

3

KECK 1 DEPLOYABLE TERTIARY MIRROR

CABAK& CORNERS .002" MAX

SWING ARM ASSEMBLY--

K1D3FD

--

BREAK ALL SHARP EDGES 

--

INSIDE NODE, RIGHT
--

872-LM4515

CABAK --
--

MATERIAL

OBSERVATORY

CABAKUNLESS OTHERWISE NOTED DIMENSIONS ARE
IN INCHES & TOLERANCES ARE AS FOLLOWS

   X.X: 0.1000"         X.XX: 0.0100"
X.XXX: 0.0050"      X.XXXX: 0.0001"

ANGLES: 0.5    FINISH: 125 MICRO INCHES

LICK B



 0 
 0

 

 .200 

 .375 

 .872 
 .891 

 2.368 
 2.428 

 3.374 

 .5
75

 

 .7
32

 

 1
.8

00
 

 .3
00

 
 .6

00
 

 .6
25

 

 1
.2

93
 

 1
.5

52
 

 0 

 0
 

 .125 
 .388 

 1.575 

 .407 
 .625 

 1
.8

00
 

 .3
00

 
 .6

00
 

 .6
30

 
 .7

52
 

 1
.2

93
 

 1
.4

59
 

 1
.5

52
 

 0 

 0
 

 1.557 

 2.315 

 .200 

 .1
38

 
 .1

50
 

 .3
00

 

 .7
50

 

 0
 

 0 

 .2
00

 

 .3
75

 

 .8
72

 
 .8

91
 

 1
.0

40
 

 1
.4

20
 

 1
.4

33
 

 1
.8

57
 

 2
.1

24
 

 2
.2

53
 

 2
.3

68
 

 2
.4

28
 

 3
.3

74
 

 .125 

 .640 
 .750 

 1.575 

 .431 

 .625 
 .675 

 .130 THRU ALL
M4X0.7 - 6H THRU ALL

 .125  .500
SLIP FIT FOR

TOOLING BALL

 R.450 

 R.394 

INSIDE NODE, RIGHT

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

DWG NOPROJECT CODE

NEXT ASSY 2

TITLE

872-LM4515K1D3FD

SWING ARM ASSEMBLY
KECK 1 DEPLOYABLE TERTIARY MIRROR

3--

B



 0
 

 0 

 1
.0

10
±.

00
2 

 .1
31

 

 .523 

 1.160±.002 

 0
 

 0 

 1
.7

55
±.

00
2 

 .247±.002 

 .1
86

 

 .787 

 .450
 M4X0.7 - 6H  .3

0 

 .4
5 

 .68 

 .310
2X  .130 

 .35 

 .3
8 

M4X0.7 - 6H  .310
 .450 .130 

 .70  .5
7 

M4X0.7 - 6H  .310
 .450 .130 

 .75 

 .450
M4X0.7 - 6H 

 .3
6  .4
7 

 .49 

 .310
2X  .130 

 1.41 
 .3

8 

M4X0.7 - 6H  .310
 .450 .130 

 1.83 

.250 .250

 .670
M6X1.0 - 6H  .470

 .60 
 1.19 

2X  .197 

 2X .29 

.250 .250

K1D3FD

-- 3

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

DWG NO

3

PROJECT CODE

NEXT ASSY

TITLE

872-LM4515

KECK 1 DEPLOYABLE TERTIARY MIRROR
SWING ARM ASSEMBLY

INSIDE NODE, RIGHT

B


